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QUESTION 1

How many lines will the following code print? 

A. 0 

B. 1 

C. 99 

D. 199 

E. 2 

Correct Answer: A 

 

QUESTION 2

What does the "enumerate" function return when applied to a list? 

A. An object of tuples, with each assigned to an iterative integer 

B. The memory location of the list 

C. The total number of items in the list 

D. A list containing a single tuple, with the tuple containing all items in the original list 

Correct Answer: A 

 

QUESTION 3
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An attacker does not yet know the IP address of his target. He uses the "socket" module to create a backdoor program.
He is writing the command to bind the computer\\'s current IP address and port 4444 to the "backdoor" socket. Which
command should he use? 

A. backdoor.bind(UDP, 4444) 

B. backdoor.bind()(4444) 

C. backdoor.bind((*)) 

D. backdoor.bind(("",4444)) 

Correct Answer: D 

 

QUESTION 4

Which of the lambda definitions of the function some_code is equivalent to the following function definition? 

Which of the lambda definitions of the function some_code is equivalent to the following function definition? 

A. some_code = lambda outvalue:invalue*2 

B. some_code = lambda invalue:outvalue*2 

C. some code = lambda invalue:invalue*2 

Correct Answer: A 

 

QUESTION 5

A multi-byte character encoded with UTF-8 has the first byte 11861101. What will the next byte begin with? 

A. 11 

B. 01 

C. 10 

D. 00 

Correct Answer: C 
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